@ a*+a’=a

@ axaxaxa=at
® a+a+a+a=4a

a'+a' =d =10},




2. Th O okl Aure S7h el Wi hE ALY

D (x3)° = x15
o (7)-%

B (xFy3)4 = x20y12

@alo +a® = ad?

® (=2)3 x (=2)° + (=2)* = 16

B

@® 5
@5
®5
@8
® 5 (16 = (-2)%)




@ -125x3y°

(=5xy)* = (-5)

3x0y3 —

—-125x5y3




4.  ax%y® x (—xy)’ = -8xy0 & W, A= a, b, Ol H5HA ab - 2¢ 9]
e Fopeta

> &

> ™t 4

B ~

a3x2y3 X (—xy)b _ a3 X (_1)b X x2+b ><y3+b

= —8x%°

aAx(-1)=-82+b=c,3+b=6°E=2
a=2,b=3,¢c=5
ab—-2c=2x3-2x5=-4
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6.

(4xy?)2+O0x(-3x2y°) = 6x°y? 9] |:|° of &gk

D 5x°

2
@ =
Xy

® 3x3y?

B

= 16x2y? X (-=3x2y°) x

8y7
X

[ T=(40?)2 x (-32%°) = 6%y

1
6x5y2




@ (-22x1y)? = 32x7y?
2 4

2
a a
@ (202)4 _3].606 (@)<_b_4) = b—g
3y? 27y°
o (%) =-Ir
@ (-3x3)% = (-3)%x% = 9a°
@ (=22x%y)3 = (=22)3x12y8 = —64x12)3
® (2a*)* = 1648
a2\?
o(-5) =5
2\ 3 27)76
o (-Z) -5




1252 + 253 =
253 = (5%)2 + (52)% = 56 + 56 = 1




